S04 10A3H(ARER) HE Kk E R & X & #
Bk m | AwE| mE | e |z | &8 zﬁ o Bk s | AwE| mE | P | e | &8 f‘;ﬁ i
Je¥EiE | 18.0 | 2,160 ~ ~ 10 k| 0% | B& P =ik | 0.1 659 ~ 648 |[o1 « BE
Kig HH | 3.0 | 1,944 | ~ ~ |10 k| 10K | ®&
Ka | 0.2 ~ 1,296 ~ 10 k| 10k | B
P i | 7.0 | 2,376 | 2,160 | 1,080 | 10 k| mh | ®e
*07
Fvh | BEE | 0.2 216 162 65 |o1 k| mh |EnEs
— =% | 05 | 1,836 ~ 540 |4 k| ®h | R&E H# Hii | 6.4 | 1,296 ~ 540 |5 k BRE
ReE
Je¥EE | 3.0 | 2,376 C 648 | 10 k| Fh | &E
S22 ®% | 6.0 | 2,376 ~ 1,836 | 15 k| @h | RE
A=Ay
BE | 15 ~ 1,080 ~ |10 k| Fh Jb#sE | 2.0 | 2,808 ~ 864 |10 k| mh | ®e
F Y mE | 120 ] 1,188 | ~ 972 |10 k| ®h | ®E A | EE | 25 | 2,268 [ ~ 1,620 | 10 & e
2 Aa¥F | =& | 1.9 | 2,808 ~ 2,484 | 10 & RE
R% | 20 [ 1,728 | ~ |1,080 |10 k| #h | Ba LS| ER | 02 [ 2,808 ~ |1,620]|5 « ga
TY—rR—v
w¥ | BmW | 05 | 3456 | ~ 2160 |10 « e
HRE ER s | 8.0 | 2,700 ~ 1,728 | 20 k| #h | BE
Je¥EE | 1.2 | 3,240 ~ ~ 5 k| #ho| NEL
=1 0.4 ~ 3 k| 20%& ®re
. =10 7,020 5,400
HorE B Iy s 540 = 20 X - =10 1.0 432 g 216 1Tk
it =il | 04 | 9,720 ~ 2,700 | 5 k| ®mh | BRE
p— EiEF | 0.6 140 86 32 01 k
— B | 3.0 ~ 19 ~ 01 k
AR 8.7 | 2,484 ~ 1,620 L P #H EFF | 03 | 1,944 | 1,620 | 756 | 3 k| @h | ARL
— T | = | 18 | 1,728 ~ 1,080 | 5 « #
AyF—= HiiF | 02 | 2,160 ~ 1,080 | 2 k| #|h | pEWL
AR
Je¥EE | 2.0 | 1,404 ~ 972 |10 k| ®h | ®e
4 . ~ hy B ~ &
- EH - 0.9 324 216 © )it KIRFE =13 1,620 1,404 0% | &
oF B | 04 | 3,240 | ~ | 1,728 |5 k| ®mh | wRks
2oif i 3,240 | ~ | 1,944 0% | wRe
- 0.2 2,592 ~ 1,404 | 4 & BRE
<k Lo | 3,024 ~ 2,160 | 4 « BEE
x5 | 1.6 [ 3024 ~ |2376]|4 « BRE INASE = 1,296 | ~ | 1,080 0x | &
R pi 3 =10 1,080 o~ 864 0R | &RE
) mat| 12 | 216 | 173 | 130 |02 k| @mh | &e
NDA 0.3 | 7,020 =, 6,480 | 10 & BRE
B—=r =q 3
kS 1.0 | 5,616 fo 3,240 [ 10 & BREE :
R —r = | 02 (10,800 ~ [ 2,160 10 « Re L&l
g | 290 t | RAWE | 1304 t




